REVISION EXERCISE EIGHT
e Paper 2 «

1.

(2a + bx)* + b(b - 2ax)
= 4a* + 4abx+ b*x* + b* — 2abx
=b*x*+ 2abx + 4a* + b?

=bz(x2 + %Tax)+4a2+b2
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=bpx+ %) + 3a? + b? > 0 for all real values

of aand b.
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(ii) 4x2+30x+25=0

(i) 4CAD=LCEG (Tangent-Chord Thm)
=2/ECB (ext. angle of AFEC)
=2/ BAD (angles in the same

segment)
(i) FE>=(FB)FC) (Tangent-secant Thm)
. FE_IB
FC ~ FE
2 .CE - _@ =
. Sm=te  (EF=EC)

(iii) By (ii) and ZF is common angle
AFBE is similar to AFEC.
. FB=BE
@ (6-3V3)m

® 3(%)

G A=048,B=15
(i) cube (iii) 0.48

10. (i) Let X be the mid-point of DE.
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11.

12.

Given ADE is an isosceles triangle,

LAXE =90°
rEax=2 -
2
1
np-EX_ 22"
sino = 4 = 4

DE=8sinf (shown) -

o . BD 1 _
(ii) Given 28 -3 and AB =6 cm,

BD=2cm

Given AX // DG and ADB is a straight line,

AXD and DGB are simular triangles.
. LXAD=/LGDB=20

cosH:D—G
2

DG =2 cos8
P=2DG+2DE
=2(2 cos @) + 2(8 sinf)
=4cos@+16sin8 (shown)
(iii) 417 cos(6 — 1.326)
(iv) 0.445 rad.
(ii) @
5

(iii) 51?;/En or 339.1(max)

sinA + 2sinA cosC
sinB + 2sinB cosC

(a) LHS=

_sinA (1 +2cosC)
"~ sinB (1 + 2cosC)







